(3)

L E A

DEXE L, DFOTEBNC > TAEL DB A ERERR L VSR L2 b DT, ZTOEFE AL,
CEDIRIEE A D IRETH 5,

BRTRESBITIB2 UL LT 5,
LD BRI AHIE RS R > kAR LD HERMEDE T H Y *

O1HAM KRy 2
< B>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | T0~T79 | 80~ | &FF(AN) | HFK (%)
A 36| 1,413 3,219] 3,598 1,912 422 46| 10, 646 71.1
B1 15 399 941| 1,156 889 327 63 3, 790 25.3
B2 1 6 57 138 161 80 17 460 3.1
C 0 0 0 0 1 2 0 3 0. 02
D 0 2 13 34 25 5 2 81 0.5
E 0 0 0 3 1 0 0 4 0. 03
ZBEH(N) 52| 1,820 4,230 4,929 2,989 836 128 14,984 100
ARTRAEEN) 1 8 70 175 188 87 19 548 3.7
AT R (%) 1.9 0.4 1.7 3.6 6.3 10.4] 14.8 3.7
<EME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 [ T0~79 | 80~ | &FF(N) | LK (%)
A 56| 1,209 2,891 2,944 1,528 354 26 9, 008 76.5
B1 12 314 637 815 573 199 33 2, 583 21.9
B2 0 13 25 53 43 23 4 161 1.4
D 0 1 4 5 8 4 3 25 0.2
E 0 0 0 1 0 1 0 2 0. 02
=2 BN 68| 1,537| 3,557| 3,818 2,152 581 66| 11,779 100
ARTRAES(N) 0 14 29 59 51 28 7 188 1.6
ARTRA R (%) 0 0.9 0.8 1.5 2.4 4.8  10.6 1.6




@2 HARI K> 2
<HBPE>

~29 |30~39 | 40~49 | 50~59 | 60~69 [ T0~79 | 80~ | &AF(N) | HFK(%)
A 9 218 554 873 648 281 62 2, 645 64.9
Bl 1 86 170 331 340 239 90 1,257 30. 8
B2 0 3 14 32 42 37 12 140 3.4
D 0 0 5 10 9 7 1 32 0.8
E 0 0 0 1 1 1 0 3 0.1
=2 BN 10 307 743| 1,247| 1,040 565 165 4,077 100
ARTRAER (N 0 3 19 43 52 45 13 175 4.3
ARTRAEER (%) 0 1.0 2.6 3.4 5.0 8.0 7.9 4.3
<EME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | AFF(N) | HZ (%)
A 1 57 135 291 328 187 26 1,025 64. 8
Bl 0 12 AT 137 175 111 37 519 32.8
B2 0 0 2 4 8 14 4 32 2.0
D 0 0 0 0 2 3 0 5 0.3
ZBEH(N) 1 0 184 432 513 315 67 1,581 100
ARTRAE# (N 0 0 2 4 10 17 4 37 2.3
AR (%) 0 0 1.1 0.9 1.9 5.4 6.0 2.3




OeEREREIRBR T 28 S A HERBR AT BB TR

<BM>
~29 | 30~39 | 40~49 | 50~59 | 60~69 [ T0~T79 | 80~ | &F(N) | HFK (%)
A 0| 1,532 2,499 1,948] 1,217 75 0 7,271 70.7
Bl 0 484 795 653 578 49 0 2, 559 24.9
B2 0 34 60 130 129 28 0 381 3.7
D 0 7 16 28 25 2 0 78 0.8
=2 BN 0| 2,057 3,370| 2,759 1,949 154 o 10,289 100
ARTRAES (N) 0 41 76 158 154 30 0 459 4.5
ARTRE (%) 0 2.0 2.3 5.7 7.9 19.5 0 4.5
<ZfE>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | AFF(N) | HZ (%)
A 0| 1,005 1,837 1,434 600 29 0 4, 905 78.9
B1 0 208 382 367 195 14 0 1,166 18.8
B2 0 6 40 50 32 4 0 132 2.1
D 0 2 6 7 0 0 0 15 0.2
22BN o 1,221| 2,265 1,858 827 47 0 6,218 100
ARTRAE# (N 0 8 46 57 32 4 0 147 2.4
ARTRE (%) 0 0.7 2.0 3.1 3.9 8.5 0 2.4




@M

<G>
~29 |30~39 | 40~49 | 50~59 | 60~69 | T0~79 | 80~ | &F(N) | H=F (%)
A 2,249| 3,966| 3,595 3,446| 2,643 770 43| 16,712 70.7
Bl 1,143 1,216 888| 1,088| 1,144 497 36 6,012 25.5
B2 29 72 97 194 238 165 12 807 3.4
D 2 9 10 21 30 21 2 95 0.4
=2 BN 3,423| 5,263| 4,590 4,749 4,055 1,453 93| 23,626 100
ARTRAES(N) 31 81 107 215 268 186 14 902 3.8
ARTRE (%) 0.9 1.5 2.3 4.5 6.6/ 12.8] 15.1 3.8
<ItE>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | AFF(N) | HZ (%)
A 2,068| 2,980| 2,765 2,725 2,574 1,173 55| 14, 340 77.6
B1 466 614 488 699 791 516 31 3, 605 19.5
B2 20 48 45 78 158 131 7 487 2.6
D 4 5 6 6 17 8 46 0.3
=2 BN 2,558 3,647 3,304 3,508| 3,540 1,828 93| 18,478 100
ARTRAEEN) 24 53 51 84 175 139 7 533 2.9
AT (%) 0.9 1.5 1.5 2.4 4.9 7.6 7.5 2.9




< LR R >
@O1 HFAR Ry 27

<BM>
~29 [30~39|40~49[50~59|60~69|70~79| 80~ | &FF (N) | =K (%)
AE ARt 36| 1,413| 3,219| 3,598| 1,912 422 46| 10,646 71.1
x| I 0 9 28| 55| 58 48 7 205 1.4
F DM 0 11 39 54 52 33 8 197 1.3
LR PTONG=2 ) R = i ) 0 1 5| 38 55 30 3 132 0.9
AN EE 0 15 55 104 119 79 14 386 2.9
M7 ey o 0 0 2 2 2 6 5 17 0.1
V1= 2 24 72| 150 156 68 11 483 3.2
= WPW B 0 0 5 6 5 0 0 16 0.1
w FEZRY I 1E 0 19 38 87| 113 59 21 337 2.2
B [EET ey 7 TEW 0 0 1 1 0 0 0 2 0.01
E |G 0 0 0 0 1 0 0 1 0.01
DR 0 1 4 5 3 3 0 16 0.1
NF 2 44| 122 251| 280| 136 37 872 5.8
ST T 0 0 30 89 84 36 10 249 1.7
% T % 2 Ak 0 2 10 19 18 4 1 54 0.4
PE (T SRtk 0 5 34 93 67 26 4 229 1.5
%{; T W FAEAL 0 16 96| 228| 128 62 13 543 3.6
N 0 23| 170 429 297| 128 28| 1,075 7.2
Brugaday [ EE[X] 0 2 3 5 3 0 0 13 0.1
T QI 0 0 0 13 14 6 1 34 0.2
FEEENER - SN 9| 120 281 297 247 74 9 1,037 6.9
ANLAA— 0 1 0 2 6 5 1 15 0.1




<ZztE>

~29 |30~39]|40~49|50~59|60~69(70~79| 80~ |[&FH () |EEF (%)

1E ARt 56| 1,209 2,891| 2,944| 1,528 354| 26| 9,008 76.5

x| PRI 0 71 34 46] 42| 23 3 155 1.3
BN 0 7 34 47 30 13 2 133 1.1
R | b pmh - LpHE) 0 0 0 1 2 4 3 10 0.1
N 0 14 68 94 74 40 8 298 2.5

Vit | ol = 0 0 0 1 1 3 2 7 0.1

(= Y1 a= 0 8 34 43 48 18 3 154 1.3
s |WPW E{GRE 0 1 2 2 1 0 0 6 0.1
M |BETry s 1E 0 7 12 23 22 5 0 69 0.6
T LaEpsEhs of o 1 0 1 of o ol  0.02
N 0 16 49 69 73 26 5 238 2.0

ST T 0 8 11 44 48 22 5 138 1.2

e |T 3% 2 FBdk 0 0 1 9 7 3 1 21 0.2
% T e petA b 0 8 14 47 35 15 2 121 1.0
{b |7 Bk 1| 49] 104 259 198 77| 13 701 6.0
N 1 65| 130 359 288 117| 21 981 8.3
BrugadaZfi/[~FE[X] 0 0 0 1 0 0 0 1 0.01
FEH QI 0 0 0 1 0 0 0 1 0.01
TR - SN 0 4 24 59 92 31 4 214 1.8
ANLAR— 0 0 0 1 0 2 0 3 0.03




< LR R >
@2 AAH Ky 7

<BM>

~29 [30~39|40~49[50~59|60~69|70~79| 80~ |&AFF(N) | (%)
IEH P 9| 218 546 844| 534| 131 17 2,299 61.7
I AMIGHE 0 0 3 17 16 10 4 50 1.3
; e =Cic8:iPANINE ] 0 2 3 19 17 10 1 52 1.4
O HEED « LD 0 0 2 5 13 8 3 31 0.8

IS -
N 0 2 8 41 46 28 8 133 3.6
M7 ey o 0 0 0 1 1 1 0 3 0.1
iz V1= 0 7 13 39 47 27 6 139 3.7
i |WPW SEBERE 0 0 0 2 4 0 0 6 0.2
M |EET Y s 1 0 4 6 22 26 19 4 81 2.2
gk 7w v 7 W) 0 0 0 0 0 0 0 0 0
N 0 11 19 64 78 47 10 229 6.2
START 0 0 13 20 33 28 5 99 2.2
R |T 2 kA 0 0 2 12 10 9 0 33 0.7
‘% T Bek2tEAl 0 3 16 30 29 23 3 104 2.3
%{; T WAL 0 16 47 95 78 41 15 292 6. 4
N 0 19 78| 157|150 101 23 528 11.6
Brugaday [ EE[X] 0 1 1 0 1 0 0 3 0.1
T QI 0 0 1 2 3 1 0 7 0.2
FEARK - A A 1 32 59 76 74 16 8 266 7.1
ANLAA— 0 0 0 0 0 1 0 1 0.03




<ZztE>

~29 |30~39]|40~49|50~59|60~69(70~79| 80~ |[&FH () |EEF (%)

A 1 56| 131|277 229 63 5 762 61. 4

P AMIGHE 0 0 1 4 6 6 0 17 1.4

;; RPN ol 1] o 2of 3 o o 10 0.8
I Y73 i) 0 0 0 0 0 0 0 0 0
N 0 1 3 6 9 8 0 27 2.2

Vit | ol = 0 0 0 0 0 1 0 1 0.1

= FHHZ7a v r 0 0 1 5 7 3 1 17 1.4
s |WPW E{GRE 0 0 0 1 0 0 0 1 0.1
W |FRE7a Yy 1 0 0 0 4 4 1 1 10 0.8
gk 7w v 7 W) 0 0 0 0 0 0 0 0 0
N 0 0 1 10 11 5 2 29 2.3

STAKF 0 0 5 5 20 20 5 55 3.2

e |T 3% 2 FBdk 0 0 0 0 6 2 0 8 0.5
‘% T eREAL: 0 2 2 11 12 13 2 42 2.4
%E T R b 0 3 17 68 85 54 13 240 13.9
N 0 5 24 84| 123 89 20 345 20. 0
Brugada®.(»EE[X] 0 0 0 0 0 0 0 0 0
FEHQIK 0 0 0 0 0 0 0 0 0
TR - SN 0 0 4 12 15 4 0 35 2.8
ANLAR— 0 0 0 0 0 0 0 0 0




O E[E PRI i = R R RS BN T2

<G>
~29 [30~39|40~49(50~59|60~69|70~79| 80~ |&FF (N) | (%)
BERL 0| 1,532| 2,499| 1,948| 1,217 75 of 7,271 65. 5
P AMIGHE 0 6 20 45 49 7 0 127 1.1
A [ EEVEHISMIGHE 0 11 29 36 43 6 0 125 1.1
F& O TAE) - L AHED 0 0 3 17 32 8 0 60 0.5
R [D=VESIR (VT) 0 0 0 0 0 0 0 0 0
NF 0 17 52 98| 124 21 0 312 2.8
Vit | ol = 0 0 1 4 4 0 0 9 0.08
Y1 = 0 15 35 62 79 17 0 208 1.9
- WPW JiE e 0 5 6 2 1 0 0 14 0.1
i BEI7avy s 1E 0 13 39 41 55 10 0 158 1.4
L FETRy ZIEM 0 0 0 0 0 0 0 0 0
b BE7 vy 7 TEW) 0 0 0 1 0 2 0 3 0.03
i BERET O v 0 0 0 0 0 0 0 0 0
e 0 0 0 1 0 0 0 1 0.01
NOF 0 33 81| 111 139 29 0 393 3.5
ST T 0 9 22 46 44 12 0 133 1.2
e |T 3% 2 FBdk 0 1 1 5 6 2 0 15 0.1
‘% T eREAL: 0 14 23 57 46 9 0 149 1.3
%E T EFEAE of 23 73] 127 88 7 0 318 2.9
N 0 47| 119 235 184 30 0 615 5.5
Brugada®i,[~EE[X 0 7 12 4 3 0 0 26 0.2
FEHQIK 0 0 8 17 23 3 0 51 0.5
FEEENER 0 7 18 20 18 4 0 67 0.6
ANLAA— 0 0 1 2 1 1 0 5 0. 05
VYT 0 0 1 1 1 0 0 3 0.03




<ZztE>

~29 |30~39|40~49|50~59|60~69(70~79| 80~ |[&Ft (N) | EEF (%)

BERL 0 1,005| 1,837| 1,434 600 29 o 4,905 75. 4

P AMIGHE 0 9 23 17 18 4 0 71 1.1

A [ EEVEHISMIGHE 0 8 29 26 10 1 0 74 1.1
F& L) - L AHED 0 0 0 0 1 0 0 1 0. 02
R DR (VD) 0 0 0 0 0 0 0 0 0
N 0 17 52 43 29 5 0 146 2.2

Vit | i = 0 0 0 2 0 0 0 2 0.03
Y1 a= 0 6 15 21 19 1 0 62 1.0

- WPW JiE i 0 1 4 5 1 0 0 11 0.2
i BETay s 1E 0 5 8 6 11 0 0 30 0.5
L PETR Y ZIEM 0 0 0 0 0 0 0 0 0
b BE7w -y 7 TEW 0 0 0 0 0 0 0 0 0
i BERET O v 0 0 1 0 0 0 0 1 0. 02
5 R 0 0 0 0 0 0 0 0 0
N 0 12 28 34 31 1 0 106 1.6

STAKF 0 4 14 31 22 1 0 72 1.1

% T 3% 2 FAME: 0 1 3 1 3 1 0 9 0.1
L% T JF2MEA b 0 4 17 26 14 2 0 63 1.0
b [T TR 0f 25 63 108 56 8 0 260 4.0
N 0 34 97| 166 95 12 0 404 6.2

Brugada £k/(EE[X 0 0 0 0 0 0 0 0 0
SLH QI 0 0 0 0 0 1 0 1 0. 02
Fr R EE 0 0 0 5 7 0 0 12 0.2
VYT 0 0 2 1 0 0 0 3 0. 05




@M

<G>
~29 [30~39|40~49(50~59|60~69|70~79| 80~ |&FF (N) | (%)
BERL 2,249| 3,966 3,595| 3,446| 2,643 770| 43| 16,712 66. 1
P AMIGHE 19 26 31 51| 106 83 10 326 1.3
A [ EEVEHISMIGHE 27 26 39 63| 103 58 7 323 1.3
F& O TAE) - L AHED 1 1 9 30 64 57 4 166 0.7
R [D=VESIR (VT) 0 0 0 0 0 0 0 0
NF 47 53 79| 144|273 198] 21 815 3.2
Vit | ol = 0 1 0 0 5 5 0 11 0. 04
Y1 = 29 41 74| 108 156| 125 9 542 2.1
- WPW JiE e 4 11 11 5 6 0 0 37 0.2
i BEI7avy s 1E 17 33 38 56| 108 72 7 331 1.3
L FETRy ZIEM 0 0 0 0 0 0 0 0
b BE7 vy 7 TEW) 0 2 1 0 0 1 0 4 0. 02
i BERET O v 0 0 0 0 0 0 0 0
e 3 0 0 0 1 0 0 4 0. 02
NOF 53 88| 124/ 169 276 203 16 929 3.7
ST T 4 17 29 71 99 41 5 266 1.1
e |T 3% 2 FBdk 1 1 2 11 9 9 0 33 0.1
‘% T eREAL: 4 14 23 61 72 31 1 206 0.8
%E T EFEAE 19 59| 75 166| 154 80 7 560 2.2
VAN 28 91| 129| 310 335 161 13 1,067 4.2
Brugada®.0 X 0 12 6 4 2 1 0 25 0.1
FEHQIK 0 3 7 28 14 11 1 64 0.3
FEEENER 4 13 12 33 40 18 1 121 0.5
ANLAA— 0 0 0 3 4 8 2 17 0. 07
VYT 1 3 2 2 2 0 0 10 0. 04




<ZztE>

~29 |30~39|40~49|50~59|60~69(70~79| 80~ |[&Ft (N) | EEF (%)

BERL 2,068| 2,980 2,765| 2,725 2,574| 1,173| 55| 14,340 73.9

P AMIGHE 8 20 15 39 99 85 12 278 1.4

A [ EEVEHISMIGHE 21 34 37 45 60 41 1 239 1.2
F& L) - L AHED 0 0 0 2 7 14 1 24 0.1
R DR (VD) 0 0 0 0 0 0 0 0 0
N 29 54 52 86| 166| 140 14 541 2.8

Vit | i = 0 0 2 3 6 5 1 17 0. 09
Y1 a= 7 18 17 36 73 50 7 208 1.1

- WPW JiE i 4 8 1 2 4 2 0 21 0.1
s BETwy 7 1E 3 10 7 12 26 32 0 90 0.5
L PETR Y ZIEM 0 0 0 0 0 0 0 0 0
b BE7w -y 7 TEW 0 0 0 0 0 0 0 0 0
i BERET O v 0 0 0 0 0 0 0 0 0
e 1 0 0 0 0 0 0 1 0.01
N 15 36 27 53| 109 89 8 337 1.7

ST 7 32 33 56| 104 83 2 317 1.6

% T 3% 2 FAME: 0 1 3 8 6 5 0 23 0.1
L% T JF2MEA b 8 19 11 32 64 45 3 182 0.9
b [T TR 56| 86| 83| 181 202| 168 6 782 4.0
VAN 71| 138|130 277| 376| 301 11| 1,304 6.7

Brugada®.0 X 0 0 0 1 0 0 0 1 0.01
FEH QI 0 0 0 1 0 5 0 6 0.03
FEEARKR 0 0 3 16 20 27 1 67 0.4
ANLAA— 7 1 2 1 1 6 4 1 16 0. 08




